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Bimolecular rate
coefficients
(1011 cm-3 s-1)
kSO2 = 16
kRCOOH = 31
kNO2 = 0.2
kHCl = 4.6
kHNO3 = 54

Bimolecular rate
coefficients
(1011 cm-3 s-1)
kSO2 = 2.6
kRCOOH = 21
kNO2 = 0.2
kHCl = 4.6
kHNO3 = 54

Bimolecular rate
coefficients
(1011 cm-3 s-1)
kSO2 = 14
kRCOOH = 38
kNO2 = 0.2
kHCl = 4.6
kHNO3 = 54

+ HO2 + CO2

O

O
+ SO3

O
O

O

O

OH

+  0.4 +  0.050.55

+ CO2

O
0.4 + CO

OOH
+  0.2 +  0.4

k’H2O = 2.9 s-1 d
O

O

HO

OH

O
O

O

O

OH

+  0.4 +  0.050.55

OH
OOH +  0.4

O
0.6

k’H2O = 12.9 s-1 b




